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Macroeconomics 

Problem Set #3

Due November 3, 2008


Assume that the equations below represent a closed economy.


C = 200 + .5(Y - T)
T = 200


I  =  1000 - 200r
G = 300


MS/P0 = 820
MD/P0 (or L) = 20 + .5Y - 100r


P0 is the base year price level.

a)
What is the numerical formula (equation) for the IS curve?  (3 pts) What is the spending multiplier?  (1 pt)


b)
What is the numerical formula (equation) for the LM curve?  (2 pts)


c)
Give the equilibrium real interest rate (r) and national income (Y).  (2 pts)

d)
If government spending (G) increases by 100 what is the equilibrium real interest rate and national income?  (3 pts)

e)
If the money supply increases by 100 while the price level remains constant, what is the equilibrium real interest rate and national income now?  (4 pts)

